00 10000 (2006/04/27)
O do0ooioooogooogooooooon

Q.1
14z + 2322 + 102 + 24 = 0

Q.2
700 + 1002z — 2032* — 292> 4+ T2* +2° = 0
Q.3
20x — 42* — 52 +2* =0
Q4
—300 — 1752 — 1322 + 723 + 2* =0
Q.5
360z + 3422 4+ 1192° + 182* + 2° = 0
Q.6
—216 + 90z + 152% — 102° + 2* =0
Q.7
—120z — 742* + 523 + 8zt + 2° =0
Q.8
700 4 100z — 203z% — 292° + 72* + 2° = 0
Q.9
—252 — 362 + 4922 + 142° + 2 =0
Q.10
—320 — 1762 — 122% + 72* + 2* = 0
Q.11
—24 — 102 + 232> +102° + 2* = 0
Q.12

—576 + 384x + 2022 — 4022 + 2t +2° =0



